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= Z:10%
gi”’ REOH 18 2% 34k 41%
S
EENE = = = M
I%g;;:gg 1B HABRET 2,000 2,100 4,900 7, 400
BLAD PBREh S8EMRET 2,000 2,300 5,100 7,500
BE [9E@h5I2BHRET 2,100 2,400 5, 200 7,600
1328 5162 RET 2,200 2,500 5, 400 7,700
1T20h 5202 RmET 2,300 2,600 5, 500 7,900
NEB/D HUBRET 2,400 2,800 5, 700 8,000
BEB, HBBRET 2,600 2,900 5, 900
WEBD HRBRET 2,700 3,000 6, 000
BEB/N HBRET 2,800 3,200 6, 100
IERh HBRET 2,900 3,300 6, 300
NEBh LMBRET 3,100 3,500 6, 400
BERD HIBBRET 3,200 3,700 6, 600
NEBD HBRET 3,300 3,800 6, 800
D3RR, LB RET 3,400 4,100 6, 900
SRR, H0SRET 3,500 4,300 7,000
S = DS RET 3,600 4,500 7,100
524 D8R E T 3,700 4,800 7,200
OS5 22 RET 3,800 4,900 7,300
TBERh 16 RET 3,900 5,100 7,400
=% 5802 RET 4,000 5, 300 7,500
BIElh HBIBRET 4,100 5, 400 7,500
B2 HB8BRET 4,100 5, 500
BB, HNBRET 4, 200 5, 600
BEB/N HIBRET 4,300 5, 800
BB 5I0ERET 4, 400 5,900
1012 5104 B ET 4, 400 6,100
106524 51082 R E T 4,500 6, 200
1002 @A 51122 RET 4,500 6, 300
3ERmASI6ERET 4, 600 6, 400
= @h 51202 R/ET 4,700 6, 500
BEr S R 4,700 6, 600
12550 51282 R ET 4, 800 6, 700
12050 5 12ER/ET 6, 800
1332 51362/ ET 6, 900
1312 51802 BET 6, 900
1Bl 5 I1UERET 6, 900
1452 5 1882 R ET 7,000
1805 51522 RET 7,100
1532 51562 R ET 7,100
HEDS 7,100
Eame £t B2 it 725 £t B 55 £t B2
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3,200 3,800 5,100 6, 400
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= Z:10%
gi”’ REOH 18 2% 34k 41%
S
EENE = = = M
I%g;;:gg 1B HABRET 2,000 2,500 5, 700 7, 400
B UMD PR SEERET 2,000 2,600 5, 900 7,500
BE [9B@hro8RET 2,100 2,800 6, 000 7,600
1328 5162 RET 2,200 2,900 6,100 7,700
1T20h 5202 RmET 2,300 3,000 6, 300 7,900
NEB/D HUBRET 2,400 3, 200 6, 400 8, 000
BEB, HBBRET 2,600 3,300 6, 600
WEBD HRBRET 2,700 3,500 6, 800
BEB/N HBRET 2,800 3,700 6, 900
IERh HBRET 2,900 3,800 7,000
NEBh LMBRET 3,100 4,100 7,100
BERD HIBBRET 3, 200 4,300 7,200
NEBD HBRET 3,300 4,500 7,300
D3RR, LB RET 3, 400 4, 800 7,400
SRR, H0SRET 3,500 4,900 7,500
S = DS RET 3, 600 5,100 7,500
524 D8R E T 3,700 5, 300
OS5 22 RET 3, 800 5, 400
TBERh 16 RET 3,900 5, 500
=% 5802 RET 4,000 5, 600
BIElh HBIBRET 4,100 5, 800
B2 HB8BRET 4,100 5, 900
BB, HNBRET 4,200 6,100
BEB/N HIBRET 4,300 6, 200
BB 5I0ERET 4, 400 6, 300
1012 5104 B ET 4, 400 6, 400
106524 51082 R E T 4,500 6, 500
1002 @A 51122 RET 4,500 6, 600
3ERmASI6ERET 4, 600 6, 700
= @h 51202 R/ET 4,700 6, 800
BEr S R 4,700 6, 900
12550 51282 R ET 4, 800 6, 900
12050 5 12ER/ET 4,900 6, 900
1332 51362/ ET 4,900 7,000
1312 51802 BET 4,900 7,100
1415 1h oI MERET 5, 000 7,100
14551 5 148ERET 5,100 7,100
18954 5 152B R E T 5,100
153548 5,100
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